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No. of Questions/F¥ai 3! &7 100
No. of Pages for Questions/y&ii & Joi & WeEAT : 15

Time :2-% Hours ] [ Full Marks : 300
wHY 0 27 "R ] [ goifes = 300
Note : (1) This question booklet contains 100 (hundred) questions in all

2

(30 in Section — A and 70 in Section - B). Attempt as many questions as
you can. Each question carries 3 marks. One mark will be deducted for each
incorrect answer. Zero mark will be awarded for each unattempted

question.

T UE-gRaHt § |E 100 (@) dvE € (@ve — & H 30 § @S — ¥ 7 70H
Sfee FvE BT T P BT TGS B | IAF T 3 P BT 8| FAF T
TR P Y UF fF Frer TR VS SRy v & uais P B

If more than one alternative answers seem to be approximate to the correct

answer, choose the closest one.

afe e Yofous oo 98 S @ fwe wla 8 @ oo wd SwR )

P.T.O.
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1.

SECTION-A

EUg —~ 3

All the following are acceptable goals for dealing with behaviour problems in
the classroom, except :

(1) helping the child to improve his/her self-control

(2) punishing, when necessary, in private

(3) understanding the offense

(4) utilizing appeals to children that have personal implications

FEATTT WARIRG TR B o @ 1+ st & Ry

(1) B I I FFH-AGAN BT FIRA | FEGNT <A1

(2) ¥ H, T AAEIS B @Y, AW oA

(3) AT & AT

(4) 99 URFRN $1 IUE HAT e B & o Suafi &

A parent of a student refuses to give permission for her child to go on an
educational excursion. The teacher should first :

(1) refer the matter to the Principal

(2) confer with the parent to discuss the educational purpose of the trip

(3) give the class a homework assignment for all parents to sign, giving
reasons why each child wants to go on the trip

(4) ask anocther teacher in the same class to take that child on the dav of the
trip

TP BT FT AW 0y 790 @7 Nafors T R @ W A oW odl 2 W
aﬁmﬁqga

(1) 39 fawg & wa=ErE @ U AW 29 @i
(2) fEs @ ey gHe B Neiftra Ry ) REr g s ol
(3) YT BT ¥HY R A T IET 2 38 AW W BN B 0B T T

.

(4) S Bar @ ) o SrAUE B BIE B YA W o W @ oY wEe TRY

(2)
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3. To become a good teacher, which one of the following may not be treated as
very much essential ?

(1) Knowledge of ICT
(2) Knowledge of Subject
(3) Knowledge of Planning
(4) Knowledge of individual difference
TF F9B] SrANS a7 @ e e F @ e smavgaar 9ga o T8 2 2
(1) g ¥ & 51 3=
(2) fowg &1 3111
(3) fraeE &1 s
(4) Jufdds f=Ta1 &1 919
4. The most appropriate behaviour of a teacher with an overactive child should
be :

(1) Give the child extra written work so he/she will have a reason for
remaining in his/her seat

(2) Allow the child to leave his/her seat whenever he/she becomes restless

(3) Provide the child with purposeful activities that legitimize the need for
movement

(4) TIsolate the child from the class

o ftrafhy T8l @ Y FEUYE B WER SUR! GIER AT aied

1) ﬁjﬁ%ﬂﬁaﬁ%m%@mamm%ﬁ%mw
e

2) T2 B AN We W g8 IR B A B 2 A Al o+ anfR
(3 mﬂz@mmwmmﬁ%mmaﬁaw
T

(4) 920 B T | ger o7 BIRY

5. Subhas tells his teacher that three other boys, who the teacher knows are
Subhas's friends, copy from each other on all the tests. Of the following the
teacher is best advised to first :

(1) give the three boys a zero on the last two tests
(2) confer with Subhas's father

(3) try to understand why Subhas said this

(4) ignore the remark

(3) P.T.O.
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gAY AT sRaTd ¥ Rierm o 2 1[5 @9 o e, R snmiow a @ R
g I N iw R A wa R 2 uRRaR I = 9 3
WA STl FAT YA H1 GATT NG P} <A1 ARy ?

(1) &= g2 @ = af o iz

(2) TN & Rar N F aadig Fw @A

(3) ¥ \HI O YATH BT ABY W GAN T U J4 wE
(4) D P & BT AN

6. Most important quality of a teacher is :

(1) Honesty (2) Diligent (3) Dutiful (4) Punctual
VP IEAE BT He Ageayel I 2
(1) 9= (2) aRsefy (3) Tt (4) Frafiear

7. When the students failed, it can be regarded as :
(1) The system failure (2) The teacher's failure
(3) The text-book's failu;e (4) The individual student’s failure
Bl @ A BN W, A WA ST o &
(1) e Mol 81 & (2) sraMS Sl 8 T
(3) g =il 8 A (4) BTa st & T

8. Ifyou are unable to get admission in B. Ed., then you will :
(1) start giving tuition at home (2) remain at home till you get a job
(3) take some another job (4) continue applying for admission
g e Mo weo ¥ waw & uwd €, A1 9 w1 FRA g ?
(1) ™R W T 0 2) AN G aF W w A @
(3) BIE AT HF DA 4) W7 > R FmaR I[@IF B

9. Open schooling programme is basically related with which one of the
following ?

(1) Off campus educational programme
(2) Formal educational programme
(3) Vocational education based programme

(4) Functional literacy programme
(4)
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aad faererdi #rEdws qaey @ A 4 | e wy w=ia @ 7

(1) ¥ i Mays wrdwa

(2) AMvmR® Hee sriHA

(3) araufis fen e sriw

(@) TaERG ARRal RS

Through teachers education programme, basically one can learn skills related
with :

(1) School (2) Learning

(3} Interactive Behaviour (4) Classroom Behaviour of teachers

ﬁ%ﬁﬁﬂmﬁwéﬁéwmmm%wwﬁwﬁm

(1) faemera | (2) 9@ |

(3) afhars waER | (4) Rt B TE @@ER §
Psychologist : Neurosis : : .o..cocrevens T revcvreunseecaenins :

(1) Ophthalmologist : Cataract (2) Dermatologist : Fracture
{3) Infant: Pediatrician (4) Rash: Orthopedist

(1) = Fafrsas  Afgafeas (2) @ faoys : afRer v
@) farg - R A7 RArews (4) =@ - aRy Rgwg
Sherlock Holmes : Sir Arthur Conan Doyle : : Robinson Crusoe : ........cccecenn. .
(1} H.G. Wells (2} Shakespeare

(3) Daniel Defoe {4) Charles Dickens

(1) TEo o I (2) IFEdiER

(3) S fewr (4) ot v

Darkness is to Africa as Sunrise is to :

(1) Japan (2) Dawn (3) East {4) Srinagar
N BRI & ford & A9 & qalea €

(1) i & g (2) YR & fog (3) ¥ 3 forg (4) H= & fau

(5) P.T.O.
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14.

15.

16.

17.

18.

19.

49:125::7:1

(n 7 2) 3 (3) 25 (4) 9
Drum is to beat as Piano is to :

(1) Play (2) Sing

(3) Strike (4) Kick

1 s @ foy & o e

(1) 3o & o 8 2) T a R E

(3) TER & ford 2 (4) SR B o 8

Rahul put his timepiece on the table in such a way that at 6 P. M. hour hand
points to North. In which direction the minute hand will point at 9.15P. M. ?

(1) South-East (2) South (3} North (4) West

g AT B @Y g R 39 YHR W @ 2 6 wm 6 a9 e arehl ¥ W
feom A avw 21 9.15 g9 a A fFe areh ge fFw e @t ok gnft ?

(1) <f&ges (2) =féor (3) TR (4) uf¥ma

In this series of numbers, write the next one :

feg g e & oo § arieh) wew fafy

8,14, 10, 20,26,22 ..........

(1) 28 (2) 18 (3) 44 (4) 42

Age of A is double than B but age of C is one year less than B but two years
more than D. Who is the youngest in age among them ?

(1) A (2) B (3) C ) D

X & B g 9 Q TN A Tl W P A 9 QA UF F@ 9 8 IR T F & A
ey B, A B9 & HaW BISY 7Y ATell DI B 7

(1) = (2) 9 @) & 4) <
Which animal among the following is different from the others ?

(1) Horse (2) Donkey (3) Camel (4) Goat
e & ¥ - IR TR A A= 7

(1) st (2) e (3) &< (4) IH4

(6)
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If A can complete any work in 7 hours and B can complete one-third of the
same work in 4 hours whereas C can complete half of that work in 2 hours and
D can complete double of that work in 8 hours, then who is the slowest in
completing the work ?

(1) A (2) B 3) C 4) D

Ife 1 fft o @Y 7 0 F 1 Heer 8 AR § IW W B @ (6 9n A 4 ue
ﬁwmmamﬁﬁmmwﬁsﬁﬁmmﬁaﬁ?aww
B G BW P 8 U W IR WFHA B, A SAR A U BM B G R A FaH
afre w1 FI T 8 7

(1) &1 2y 9 3) ¥ 4) <

National Literacy Mission was established in :

TeAe foredr fiem &Y e g8 o

(1) 19884 (2) 1998 # (3) 1999 % 4y 20004
Who is known as the 'Father of computer’ ?

(1) B. Pascal (2) H. Hollerith

(3) Charles Babbage (4) ]. V. Newmann

FFEYST FT THF DI o7 7

(1) ®o U (2) TuEo BERY

(3) drew T (4) <o Fo AT

NIVH is concerned with the :

(1) Special education (2) General Education

(3) Physical Education (4) Technical Education

T I & A BT E

(1) fafdre Ren @ (2) wHra e w

3) iRka Rerw | (4) TEArE e |

What is PPP in Education ?

(1) Public-Private Partnership (2) Private-Public Partnership
(3) People-Public Partnership (4) Participatory-Public Policy
Remddt G fFme?

(1) ufest-yrgae urd=RI3g (2) ygdc-ufedaad ard =R

(3) Aue-ufsers urd-RfRM (4) wfiRmed-ufas diferd

(7) P.T.O.
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25.

26.

27.

28.

29.

30.

Inclusion in education is an approach to educating students with :

(1) normal educational needs (2) poor special educational needs
(3) rural educational needs (4) special educational needs
R ¥ wARTE 9 gl o Rifda = &1 v surH @ e

(1) wr= fde sravudan § (2) &N HMFe angrasany 2
(3) arfiw HfdF snawmedl © (4) faftre MM sngvawan ¥
Principle of multimedia approach is basically related with :

(1) National Literacy Mission (2) Distance Education

(3) Education for All Scheme (4) Work Experience Scheme
qg wegm SurT (et fARe amE) w g ey 9 el B

(1) T wERar A | (2) gt R @

(3) wea fog fRven e 9§ (4) BRI arpia I A

In which year the first Open University was established in India ?
wRa ¥ vem ga favafdemer o v G w F gd 7
(1) 1983 (2) 1981 (3) 1980 (4) 1988

Vocational education combines productive labour with education and athletics
on the basis of the idea of whom ?

(1) Karl Marx {2) Lenin
(3) Mahatma Gandhi (4) Bertrand Russcll

AR e ¥ Swes M o Ren 3R doag @ 9 W o @gwen e
faR @ IR W P aE ?

(1) ot AT (2) &=
(3) v T @) <=8 d

Right to Education Bill is associated with which year ?

R @ IReR O gt s & 9 e e ?
(1) 2005 (2) 2004 (3) 2003 (4) 2001

In the concurrent list of the Indian Constitution, how many subjects are there
now ?

AR Efur & wwadt T A adaE F feas vy wftafera € 7
(1) 47 (2) 57 (3) 37 @ 27
(8)
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SECTION-B
grg —

Choose from the four alternatives the correct option which best expresses the
following sentence into 'passive voice’ :
The students were cleaning the room.
(1) The room was cleaned by the students.
(2) The room was being cleaned by the students.
(3) The room had been cleaned by the students.

{4) The room is being cleaned by the students.

Choose from the four alternatives the correct option which best expresses the
following sentence into 'indirect speech’ :

She said to me, 'When are you teaching us nuclear physics' ?
(1) She asked me when I was teaching them nuclear physics.
(2) She asked me if I was teaching her nuclear physics.

(3) She asked me if I will teach them nuclear physics.

(4) She asked me when I will be teaching her nuclear physics.

Choose the correctly spelt word :
(1) Occasionally (2) Ocasionally

(3) Occasionaly (4) Occassionally

Choose the incorrectly spelt word :
(1) Accidentally (2) Embarrass

(3) Committee {4) Occurance

(9) P.T.O.
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35. Choose from the four alternatives the word that has nearly the same meaning
to the word 'Circuitous'

(1) Straight (2) Crooked (3) Roundabout (4) Manipulative
36. Select from the four alternatives, the word that means the opposite to the given

word :

Desultory

(1) Aimless (2) Thorough (3) Questionable (4) Dectrimental
37. Add appropriate question tag to the sentence :

You like dancing, ......ccoocnnnee. ?

(1) doyou (2) did you {3) don't you {4) isit

38. How many consonant sounds are there in the word ‘texts' ?
(1) Two (2) Three {3} Five {4) Four

39. Select the appropriate preposition to fill in the blank space in the sentence :
All old cars must comply ......cccoeune. new regulations.
(1) with (2) to (3) on (4) for

40. Complete the following sentence with appropriate tag question :
Nobody has ever helped you, ............ ?
(1) has he (2) have they (3) haven'tthey  (4) hasn'the

41, Fill in the blank with the appropriate word in the following sentence :

If you need a place to stay, we can put you ................. for the night.

(1) on (2) up (3) in (1) out
42. Choose the appropriate alternative to fill in the blank :

I am too busy, I can't take ............... any extra work.

(1) out (2) about (3) with (4) on

43, Complete the sentence with appropriate word :
It is difficult to drink from a cup which is full to the ............... .
(1) top (2) edge (3) brim (4) circumference
(10)
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44. Choose the meaning of the underlined idiom in the sentence given below :

It's a wild-goose chase.

(1) A hunting expedition (2) A vain pursuit
(3) A hectic campaign (4) A scientific survey

45. Choose the word which can be substituted for the given group of words :

A person who collects or studies coins or medals.
{1) Numismatist (2) Philatelist {3) Oculist (4) Lapidist

Directions for Q. Nos. 46 & 47 :

In each of the following questions, the first and the last part of the sentences are
numbered as 1 and 6. The rest of the sentences are split into four parts and named P,
Q. R, S. These four parts are not given in their proper order. Read the sentences and
find out which of the four combinations is correct and mark the right option.

46. I met a poor woman, all in tears

and that his eight children must now starve
her husband had been arrested for a debt
who told me that

he was not able to pay

o WO

bereaved as they were of his industry.
1) RSPQ (2) RSQP (3) RPSQ (4) RQSP
One day Birbal came to Akbar

Emi

47.
he wished to repair his fortune
whom he dearly loved

and told him that

by a wealthy marriage with a lady

o w ®m O T

. whose father had left her sole heiress to a large estate.
(1) QPRS (2) PRQS (3) RQSP (4) RPSQ

48. Choose the alternative that is the name of the offspring of DEER :
(1) Minnow (2) Fawn (3) Calf (4) Cygnet

(11) P.T.O.
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49, A sentence is divided into four parts. Choose the part that contains an error :
(1) Hardly had he returned (2) than he was
(3) called out again (4) by the officer

50. Select the most appropriate option to fill in the blanks in the sentence :

The Internet is a medium where users have nearly ............ choices and
.............. constraints about where to go; and what to do.

(1) unbalanced, non-existent (2) irritating, no
(3) unlimited, minimal (4) choking, shocking

51. Identify the figure of speech used in the following line :
He is an artist of no small stature.

(1) Litotes {2) Zeugma (3) Oxymoren (4) Hvperbole

52. Who wrote the following line ?

"If Winter comes, can Spring be far behind ?"

(1) John Keats (2) P.B.Shelley

(3) William Wordsworth (4) John Milton
53. ‘A poem of mourning is known as :

(1) Ballad (2) Epic (3) Sonnet (4) Elegy
54. FAREREAETHI HRY At af ?

(1) 9595w (2) sremEy (3) AwIEH (4) g<Q

55, SURMHARG =G & ¢

(1) iferems: (2) waf (3) Lo (4) .
56. = R ¥d: wd sy — FReR s gfew ?

(1) wearEaET (2) srfhsTTRgeH

(3) wretfasTfA=H (4) G
57. YgEEMEIETAR THAT & BRI 7

(1) “rfa: (2) #m=: (3) wrforgT: (4) &=

(12)
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g quid sfiin aee ke 7
(1) SowRpERay (2) avfieH (3) TERETHEH (4) WeTarasTH

T TAmTgead $f a3 e & AeeR SRy Iad ?

(1) aofreBrRH (2) oG

(3) THHICHA (@) sfreTeTERTem

T e Agefifana: twae W forad - |

(1) Toom (2) 1o 3 @) =
HoeT T fanfaaas forgd -~

(1) =gell, sgaa (2) T, TEeEH

(3) worl, THAETH (4) Fd, THaETH

I5g 3f framesr dergevae foma —

(1) &, 9, TSIy (2) €IC, YU, THIE

(3) e, UIH, ThaHTq (4) &<, STH, YHIAAH

a3 @ AR ?

(1) g (2) 9 () f« (4) fawt
e g3 & T 7 |

(1) wegey (2) fa7g 3 = (4) agife
‘oE o T g A ge — |

(1) g faerera wmar 2| (2) 2 e W €)

(3) v femera o 8| (4) ¥ Remem o €

<€ T foraa — |

(1) @ g&e sy (2) IE KD ToTH |

(3) % TS T34 | (4) T4 qxaF usf |
ARAP I AT e TR |

(1} == 2) =@ (3} 5 (4) W<

(13) P.T.O.
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68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

anfesievrad: H S yaad: A 7

(1) a=a (2) AR (3) IO (4) dar=t
ARGl BT FEoRE: Al ?

(1) g4 (2) == (3) s’Y (4) srew
Arrragiar i segrn |t ?

(1) grew (2) W= (3) IrETEY (4) UsTEA
e, HT, B e 4 TR [ourl: —

(1) Fm=: (2) e (3) A= (4) e
................... IfRarl § a0 FgEH |

(1) 39 (2) B3 (3) SR (4) Td

(1) == (2) wfUer (3) arIte: (4) STGITIOL:
HEMRY Bfg gaifdr |+ ?

(1) <Ry (2) dwR (3) Wiy (4) v>UgY
TRETS JeraE gF WAl W ?

(1) Wiy (2) Ty @) TRy (4) iy
ARG IR G L A g |

(1) & 2) sufwe: (3) ST (4) SR

Wﬁwﬁ-ﬁﬁ%ﬁﬁmaﬁaﬁw@ﬁgﬁﬁwﬁ$%ﬁ
?

(1) Rty (2) FRE TEd (3) IEE (4) ATl FEY
yeATad ¥ Rigagiu free wdie 2 7

(1) &&= (2) e (3) TR (4) w

T A, g9 e 98 feae gR forar T g ?

(1) e (2) wEveT RN (3) gerdrary (4) s

(14)
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9 @ gauyH weEy g fea faa 2

(1) wE deae (2) AE (3) ISR (4) w=agf
AP @ A0 T W™y & Faoh P AN O & 7

(1) PTae (2) feramfor (3) PraErk (4) TP
raftwar fa gfe I o Hfa A o € ?

(1) o 3 ghe & (2) Harg 9 @ g |

(3) weiaa & g & 4) Ifvafe @ gfe 9
TRARRA T8 fAa ga # 2 ?

(1) 3T (2) wogd (3) sufAwg (4) ITTEHS

ARG A e e By 7 < el Bt e (en) wE 8 7

(1) 9=a gEem (2) 3R T (3) 9IRA FTH (4) Tael AMCH
frfaRag o Sut wWRg weg BiF-ar & 7

(1) fammar (2) faey (3) faewm (4) s

IRAE FA ¥ TROMg B RGAT S q% B T FT PIF-81 69 G690 I8 S0
3 | T ?

(1) e (2) den (3) EBRO (4) a=
‘Trg wEET e v v S 2 7

(1) W™ (2) R (3) gerder (4) RN
[yar feaer g o< 99 A ? 7

(1) B (2) ¥REE (3) T (1) A
fr| i % en o 799 w0 F wwqa far war e ?

(1) S (2) g ya= (3) AR (4) wreha

‘gpfaare’ we 68 aftres T grr ?
(1) warmEg (2) greaTg (3) H™EaA (4) BIIEE

(15) P.T.O.
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91. Tuied @A T TEET Wiy e yer @1 e €

(1) TfcreRis 2) foersh (3) wrfey® 4) v
92, TR ey Fa dt i o & 2

(1) = ¥ (2) aetrETEE e

(3) wwr el (4) TvoTHs el

93. ‘WO fFH YR BT 9rI ® ?
(1) e (2) ferreran (3) AR (4) GET B PR

94, T D e 9 UBR & Ay & ?
(1) wae® (2) TS (3) Yfasfae (4) BT werrd

g5. = & § 99-97 ov SUT BT 98 & ?

(1) AR (2) <A (3) wr=atfa (4) deh
96. smjfiw HRT H wE Ry o @ 7

(1) wEsag (2) =1 BEN e
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